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1.  Consider the following international events :
1. Signing of the Simla Agreement
2. Agra Summit between India and Pakistan
3. Signing of the SAARC Charter at the First
SAARC Summit
4. India’s first nuclear test
Which one of the following is the correct
chronological order of the above events ?
(a) 1,8,4,2
)4 1.3, 2
(). Sisd4. 3.2
d 4,1,2,3
2.  Which one of the following features is correct
about the ‘First Past the Post System’ of
election ?
(a) A candidate who wins may not get the
majority of votes
(b) More than one representative may be
elected from one constituency
(¢) . Voters vote for the party, not the
candidate
(d) Every party gets seats in the legislature
in proportion to percentage of votes that
it gets
ANFB-S-GKL
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Match List-I with List-II and select the
answer using the code given below the Lists :

List-I List-1I
(Special provision in the (State)
Constitution of India)

A. Article 371 1. Nagaland
B. Article 371-A 2. Gujarat
C. Article 371-B 3. Assam
D. Article 371-1 4. Goa
Code :

A B C D
(a) 4 1 3 2
(b) 4 3 1 2
() 2 1 3 4
d 2 3 1 4

Which of the following statements as per the

Constitution of India is/are correct ?

1. Provision for the reservation of seats for
women in the Lok Sabha and the Rajya
Sabha has been made vide 106t
Amendment of the Constitution.

2.  There are provisions for the reservation
of seats for women in the Legislative
Assemblies and Legislative Councils of
the States.

3.  There are provisions for the reservation
of seats for women in Panchayats.

Select the answer using the code given below :

(a) 1land2
(b) 2and3
(¢) 1lonly
(d) 3only



ANFB-S-GKL

Ra & dfqum & araefi sggEt & iaia fawai
R gt #1 Frafafes § @ S gm0 @@

gafera 7@ & 2

(@) qwerd! gt
(b)  f 3 waT T TS gt

(c) | gt

(d) SETOET wadl gt

IR o gfer $i v & god § Frafafea 5 @

FI-A FU T E 2

1. oufuer veg YTSETE IeR ¥ gt ST
2

2. W Yo% THAT ¥IeE § RSt AT E |

3.  SYAr Y& TEAAr YK % oA1G AR |

i faw 7 e 1 T R I g

Faer 1 3R 2

Fae 2 3R 3

FaeT 1 3 3

1,233

(a)
(b)
(c)
(d)

i & d9e # ‘w@mEr F 9n 7 Fefafes § @

FH-TTHH T R 2

(a) whfteg # frelt Wt & fawg srfavama weama
e g gar # |

b) Frdt srfvare s # 51 SR @ sEw

fafés fomar st =nfee 5@ w T smnf@ 2

TegavT #I frdt sifavae wae w faEm

A T AL TE R |

(@) el e weama =1 fafare smam ar sl w
TR BT ST TR 2 |

(c)

10.

(4-A)

YRA & Gfayge &1 9T V% Fafafae § @ e
&7 § Hafrd & 9

(a) e EaT AT * wewdi i fgf

(b) A FAA

(c) Yo HaT AN & F

(d) TSI GEHRI & HEFOT (functioning) & fIT
Yy

gie ag Frafafea & & B 2 i g w1

et U Hiie @ g ?

SR 3R

ST SR TR

N 3 qTFeRe

TR 7R =

(a)
(b)
(c)

(d)

frfefas amfees sridiemt w faem i :

1. oo stidiem

2. NG WA

3. HYIHE G

IEE A HAEeHT ® AR BN F EE

FICAIHA (T e & 10 id gu) Frforfiaa 7
HHA-ATE ?

(@ 21,3

() 38,1,2
() 8,21

@ 1,23




5. Which one among the following pairs of
Subjects and Lists under the Seventh
Schedule of the Constitution of India is not
correctly matched ?

(a) Forest Concurrent List

(b) Taxes on land State List
and building

(¢) Insurance Union List

(d) Census Concurrent List

6. Which of the following statements with
reference to the Preamble to the Constitution
of India are correct ?

7 The word ‘secular’ comes before the word
‘socialist’.

2.  The word ‘justice’ comes before the word
‘equality’.

3. The word ‘fraternity’ comes after the
word ‘liberty’.

Select the answer using the code given below :

(a) 1and2only

(b) 2 and 3 only

(¢) 1and 3only

(d 1,2and3

7. Which one of the following statements
about ‘Motions’ in the Parliament of India is
correct ?

(a) A Motion of No-Confidence can be
admissible against an individual
minister in the Council of Ministers.

(b) A No-Confidence Motion must set out
grounds on which it is based.

(¢) Rajya Sabha is not empowered to
entertain a motion of No-Confidence.

(d) A Censure Motion need not be based on
specific grounds or charges.
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(5-A)

Part IV-A of the Constitution of India deals

with which one of the following areas ?

(a) Appointment of Members to Public
Service Commissions

(b) Fundamental Duties

(¢) Functions of Public Service
Commissions

(d) Provisions for the functioning of the

State Governments

The ‘Durand Line’ is a border demarcation

that separates which of the following
countries ?

(a) Afghanistan and Iran

(b) Afghanistan and Pakistan

(¢) India and Pakistan

(d) Afghanistan and China

Consider the following social movements :
1.  Chipko Movement

2.  Bardoli Satyagraha

3.  Satyashodhak Samaj

Which one of the following is the correct
chronological order (starting with the earliest)

of the launch of the above social movements ?

(a 21,3
(b) 3,1,2
()8 2
(d) 1,2,3
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11.

12.

13.

4, Vedas
Select the answer using the code given below :
(a) 1,2 and 3only
(b) 3and4only
(¢) 1land2only
(d 1,2,3and4
14. Who among the following was India’s first
Woman Chief Minister ?
(a) Sarojini Naidu
(b) Sucheta Kripalani
(¢) Vijaya Lakshmi Pandit
(d) Hansa Mehta
ANFB-S-GKL (7-

Which one of the following statements about

the Tashkent Agreement is correct ?
(a) It was an agreement between India and

the Soviet Union.

(b) It was an agreement between India and
Pakistan.

(¢) It was an agreement that led to the
formation of Bangladesh.

(d) It was an agreement between India and

Mongolia.

Which among the following is not a language

listed in the Eighth Schedule of the
Constitution of India ?

(a) Manipuri

(b) Gondi

(¢) Nepali

(d) Dogri

Which of the following can be considered a
part of the ancient Indian Smriti Literature ?

i 12 Puranas

2. Ramayana

3.  Kalpa-Sutra

15.

16.

17.

A)

Which of the following statements is/are
correct ?

1. C.Rajagopalachari was the first

recipient of the Bharat Ratna.

2.  Pandit Deen Dayal Upadhyaya initiated
the concept of ‘Integral Humanism’.

Select the answer using the code given below :

(a) 1only

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

Which of the following pairs of Institute and
their location is/are correctly matched ?

1. Indian Institute of Advanced : Shimla

Study

2. Indian Institue of Public : New Delhi
Administration

8. Sushma Swaraj Institute of : Nainital

Foreign Service

Select the answer using the code given below :

(a) land2
(b)) 2and3
(¢) 1only
(d 2only

Consider the following statements :

1. Erok Sim is a festival mainly celebrated by
the Santhal community.

2. Sangken is a Buddhist festival celebrated
in Arunachal Pradesh.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2only

(¢) Both1land?2
(d) Neither 1 nor 2
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18. ‘Maitree’ is a Joint Military Exercise between
India and :
(a) Bangladesh
(b) Thailand
(¢) Malaysia
(d) SriLanka
19. Which of the following criteria are specified for
granting Special Category Status to States in
India ?
1.  Hilly and difficult terrain
2. Economic and infrastructural
backwardness
3. Strategic coastal zone
4.  Sizeable share of tribal population
Select the answer using the code given below :
(a) 1and2only
(b) 3and4only
(¢) 1,2and 4 only
(d 1,2,3and4
20. Who among the following is the founder of the
Congress Socialist Party ?
(a) Acharya Narendra D.ev
(b) Jawaharlal Nehru
(¢) Motilal Nehru
(d) Asoka Mehta
ANFB-S-GKL
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(9-A)

The rule to determine the direction of a
current induced in a coil due to its rotation in
a magnetic field is :

(a) Right-Hand Thumb Rule.
(b) Fleming’s Left-Hand Rule.
(¢) Fleming’s Right-Hand Rule.
(d) Hund’s Rule.

A car travels a total distance L. It travels half
the distance with speed v, and the other
half with speed v,. The average speed of the
caris:
vy +V,
2
2VyVy

(a)
(b)
Vi +Vy
(v; +vy)L

2vyvy
d o0

(e)

The linear momentum of a particle is
conserved if :

(a) the net force on it is maximum.

(b) the net force on it is zero.

(¢c) the net torque on it is zero.

(d) the net work done on it is maximum.

When a stone tied to a string is whirled in a
circle, the work done on it by the string :

(a) 1is positive.

(b) is negative.

(¢c) iszero.

(d) depends on the mass of the stone.

Assume ‘A’ does 500 J of work in X’ minutes
and ‘B’ does 1000 J of work in 20 minutes. If
the power delivered by ‘A’ is P; and ‘B’ is P,
and P, = 2P,, then %’, in minutes is :

(a) 10
by =B

(e) 20

(d 25



27.

28.

29.

30.
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330 m/s T T (speed) ¥ THT A AT FI5 eaH
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Tt X-fepor =t foreiftrar fora s e 2 -
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I UH S (Van de Graaff Generator) 4T
I FATE ?

(a) ﬁﬁﬂa@aﬂ%ﬂ
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31.

32.

33.

(10-A)

Pt & @ P o 71 T T A
(molten compound) % %ga-mm g A9
w9 § ffia foram smar @ 2

(a) Cu

(b) Au

(¢) Sn

(d)

fraferfias & @ #9-81 ¥FT (Graphene)’ &l

T 7ET @ 2

(a) 98 oft oF Fd T Udem wer
(thinnest material) # |

(b) & T 9T &9 & UREH 2 |

(c) TEHIATiHaISeAE |

@ & s foga desie srdEE

(wide band-gap semiconductor) 2

Na

izt @ fFfisd (degrade) T 7 B
g2

(a) I Yoo HEF ARG E |

(b) T eIt TSI ST EA € |

(c) I ae utfearsr AT A & |

(d) 3T e St 59 BT € (> 500°C) |

fr=fefiga & @ 901 FEiaics T FT gal
T g R 2

(a) CgH,OH
(b) CgHg
(C) CszCO OH

(d) CHZCOCH,



26. A sound wave travelling at a speed of 330 m/s
produces 20 crests and 20 troughs in
0-1 second. The wavelength of the sound
wave is :

(a)  Tlm
(b) 33m
() 165m
(d 22m
27. An X-ray can be deflected :
(a) by a magnetic field.
(b) by an electric field.
(c) by both electric and magnetic field.
(d) neither by electric field nor by magnetic
field.

28. In a simple astronomical telescope, the
objective and the eyepiece used respectively,
are :

(a) aconvergent lens and a divergent lens.

(b) adivergent lens and a divergent lens.

(c) adivergent lens and a convergent lens.

(d) aconvergent lens and a convergent lens.
29. Twinkling of a star is due to :

(a) Interference of light

(b)  Refraction of light

(¢)  Polarization of light

(d) Diffraction of light
30. Van de Graaff generator generates :

(a) electrostatic charge

(b) magnetic field

(¢)  high voltage low alternating current

(d) high voltage low direct current
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32,

33.

(11-A)

Which one of the following metals is widely
extracted by the electrolysis of its molten

compound ?
(a) Cu
(b) Au
(c)  +Sn
(d) Na

Which one of the following is not a property of
‘graphene’ ?

(a) It is the thinnest material known so far.

(b) It is almost completely transparent.
(¢)  Itis highly conducting.
(d) Itis a wide band-gap semiconductor.

Why do plastics not degrade easily ?

(a) They have strong ionic bonds.

(b)  They have strong covalent bonds. -

(¢) They have strong metallic bonds.

(d) They have very high melting points

(> 500°C).

Which one of the following is the correct
chemical formula of carboxylic acid ?

(a) CyH,0OH
(b) CgHy

(©) CyHs;COOH
(d CHZCOCH,



35. s & fore frmfafas § & #F-a1 Fuw @@ 78| 39, freferfiaa & & #- f| 62 gu iR Skft 7y 3ft
27 g2
(a) mwmﬁmww‘?ﬁ* (a) STHIfAT
WY 120° F ATEY FI7 (bond angle)
i = (b) ETEFH HEHES
(b) foeurisa §92H (delocalized electrons) o %
A (plane) & I 3N 1 zaH #1 = B S
T FATSE (cloud) T € |

() C-C Fmeul i dars Gt 3R -3t F |40,  Tamfis sfufFmn

ff<l HETH (intermediate) Bl 2 | K,SO, +BaCl, —— 2KCl+BaSO,}
() T9% B8 G (isomers) ¥ | SaINEEIR) (SIefr) - (3Te)
foreeT SamERT & 2
86. ffofaa § & F-ar Argiem S 7 R 2 (a) @IS SRR
(a) (NH,)oS0,4 (b) e srfafwan
(b) NH,NOg (c) foarsm safwferan
(&) Ny (@) fafereermam sifirfman

d (NH,,CO

87. Ffoiea & & Hi7-81 qmr SR O O |y o 3 anffaron ¥ for Praffea 3 @ 2. @@
HehuT gl @ (transition metal element) ED| w@$meo

gd w9 ¥ Fefua sar e 2

(a) (n-2)d¥10pg?
(b)) (n-2)f"1%mn-1)d*! ns?
(¢) ns?np®nd-10

" (d) (n-1)d110pg0-2

(a) T — HT — T — AT — FA — A
(b) Hﬂ'—)ﬂ’f—}iiaaamaml’—)mﬁf
(c) TMOT — 3 — HH — FT — A — I

(d) HT — 3 — T — FeT — I — Sl

38. uftadl fafl@RUT 3§F (variable oxidation

numbers) fFae fow g & 2 42, ﬁm%f@aﬁ%mgaﬁaﬁmmmmaﬂq—m%?
(a) @ifeaw (a) T&HT

(b) Hfcaam (b) waE

(¢ E € I

(d) ifeEm (d &
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85. Which one of the following statements is not
correct for benzene ?

(a) Each carbon atom forms sigma bonds
with two other carbon atoms with a
bond angle of 120°.

(b) Delocalized  electrons  create a
symmetrical ‘cloud’ of electrons above
and below the plane.

(¢) The length of C-C bonds is
intermediate between single and double
bonds.

(d) It has six isomers.

36. Which one of the following is mot a nitrogen
fertilizer ?

(ﬁ) (NH4)ZSO4

(b) NH4NO,

(e) Ny

(d) (NH,),CO

37. Which one of the following general electronic

configurations  correctly  represent a

transition metal element ?

@ (n-2)d*1ns?

b @-2) % m-1)d%?! ns?

(¢) nsZnp®ndl1°

d (n-1)d19ns®?

38. Variable oxidation numbers are possible for :

(a) Sodium

(b) Calcium

(¢) Iron

(d) Lithium

ANFB-S-GKL

39.

41.

(13-A)

Which one of the following gas smells like a
rotten egg ?

(a) Ammonia

(b) Hydrogen sulphide
(¢) Acetylene

(d) Sulphur dioxide

The chemical reaction

K804 + BaCl; —— 2KCl +BaSO,4 |
(aq) (aq.) (aq.) (solid)

is an example of :
(a) Addition reaction
(b)
()

(d)

Displacement reaction
Decomposition reaction

Double displacement reaction

Which one among the following is the correct
scheme followed for classification of animals ?

(a) Class — Phylum — Order — Genus —

Family — Species

(b) Phylum — Class — Family — Genus —

Order — Species

(¢) Order — Class — Phylum — Family —

Species — Genus

(d) Phylum — Class — Order — Family —

. Genus — Species

Which one of the following is an example of
airborne disease ?

(a) Tuberculosis
(b) Malaria
(¢) Dengue
(d) Cholera



ANFB-S-GKL

43. ABO T @ YN § ¥ FH-H IR A T THT

g2
(a) AO,BO,A3NB
(b) A,B,AB3RO
(c) A, AB,BO3NRO

(d) AB,AO,B3R0

. Frefefed @ @ #-a, ama § gev 5939 @ Fam
TE R ?

(a) W(Eﬁé'c’)ﬂﬁ

(b) N0

(¢) wwiyr-Ifar

(d) TN

y ﬁﬂﬁf@ﬂﬁﬁmqﬁﬂﬁﬁ(hmmhraiﬂ)%

i wmrama o

(a) MWW (Forefront) WRASH, UM
(Standard) A& 37 9¥ (Hind) Afash

(b) 3 (Fore) Wikdsh, WIAHT (Median)
Hfsh 37 fUSeT (Rear) itash

3 (Fore) Wi, 7eF (Mid) ufass iR
9¥d (Hind) 9ieqsh

‘Ef"mof (Precursor) W&, HT¥4 (Mean)
Hitseh 7R 9% (Hind) 9feas

(c)

(d)

. WS % 3 1 daae (FAAe) foRed ST BT # 2
(a) oo Bigke
(b) WA EESIH FEHE

(c) uIfeTw esgoaES
(@ e s

47. TG % gEE % AR AR W IFF el S

48,

49.

50.

(14-A)

Y B 8, SR Fed & ;
SyFTfert
Hint

LEIEL]

(a)
(b)
(c)

(d) ==

Frferfias & & F19-9 Srgdese i gvia & 2
W 3R g
(b) T R Aerger
(¢c) WIE2H IR TG
(d) e IR ST

(a)

foreft siefenfes Fifiren # Frafefea § & S
IR <@ ST HeheT 2 2

(a) FAFOER (Mitochondria)

faf¥aa A1 (Definitive nucleus)

T (Ribosomes)

(d) Tifestt 1 (Golgi bodies)

(b)

(c)

78 %9 pH 9 JreT e g e
Sarf e

el frem

et foeram

HequET e

(a)
(b)
(c)

(d)



43. What are the four human blood types in ABO
blood group typing ?
(a) AO,BO,AandB
(b) A,B,ABandO
(¢) A, AB,BOandO
(d) AB,AO,BandO
44. Which one of the following is not a part of the
male reproductive system in human beings ?
(a) Prostate gland
(b) Testis
(e) Cervix
(d)  Scrotum
45. Which of the following are the different parts
of a human brain ?
(a) Forefront brain, Standard brain and
Hind brain
(b) Fore brain, Median brain and Rear
brain
(c) Fore brain, Mid brain and Hind brain
(d) Precursor brain, Mean brain and Hind
brain
46. Tooth enamel of humans is made up of :
(a) Calcium phosphate
(b) Sodium hydrogen carbonate
(¢) Sodium hydroxide
(d) Lactic acid
ANFB-S-GKL

47,

48.

49,

50.

(15-A)

The inner lining of the human small intestine

has numerous finger-like projections called :

(a) Sphincter

(b)  Villi

(¢) Enzymes

(d) Plaques

Which of the  following  represent
disaccharides ?

(a) Starch and glycogen

(b) Glucose and galactose

(¢) Maltose and lactose

(d) Ribose and xylose

Which one of the following organelles can be

seen in a prokaryotic cell ?
(a) Mitochondria
(b) Definitive nucleus
Ribosomes

(c)

(d) Golgi bodies

A solution with a pH value less than 7 is a/an :

Neutral solution

(a)

(b) Basic solution
(¢) Acidic solution
(d) Hypotonic solution



51.

Wt SR (Permanent Settlement) % @9

e F aeftor & % AR A Frafafed FweEt w

forem e -

1. wofter gt @ W A R
a7 |

2. TGl #, Siiqer) #it wfte seffant $it wiw A
o H Sfere et et off |

3. %= 3femn st 3 Frm smman fo6 afgenstt it
Hufer =t St = s |

4. FOERI & @i et 9 W e
2R |

94 | A FH-8 F G ?
(a) 1,234
(b) 1,233
(¢ 2,33N4
(d) aer 133
52. F=N-1 %! -1 & gafoa Hifse ik gt & A=
fw e %z 1w = I g
gel-1 ge-11
(ST /FHTER -9/ (AT /TG
tpoic) TaF)
A F Iy 1. 3fsiEr =y
B. fopam gifea 2. foUrsteTE Hean
C. dfet it 3. oSl FTFH
D. Wl e 4. 3t TorET ARER
%c:
A B C D
(@) 4 3 2 1
b 4 2 3 1
(g) " 3 2 4
@ 1 2 3 4
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53. TR Ao % an # Ffafad & & Sn-araEna

55.

(16-A)

FUT TE /R ?
1. 7T e 1913 # 89 wiftn § Iy
g3 |

2. 39 JAEICH % GEITYF Qe g e o |

3. TS JMEIEH HT AW IHF IR wrere §
T B ATel BTeaTiesh et | for mam or |

et fau 7 %z 7 y A ST g

(a) Faell

(b) FaA 2

(¢) HacT233

(d 1,23W3

WY ¥ OIE FA gy, Fefafad oeeifes
THITHUIHT 3 e i FHiaTgsa § sqafead i : -
1. AT AESE a

2. sfera wEiftuEe

3. HZY HETSH 8991

4. o e wEifieE

e fag e e =1y A I
(a) 1,2,8,4

(b) 4,3,2,1

(€ 1,2,4,3

@ 3,4,1,2

TSR % Fieflam § e S ge @a &1 e
fafafead & a2 2

(a) ST SO

(b) IR g

(c) I EEWT

(d) ATHITITOTERTEA




51. Consider the following statements about the
Bengal countryside at the time of the
Permanent Settlement :

1. The zamindars’ troops were disbanded.

2.  Within the wvillages, the power of
Jotedars was more effective than that of
zamindars.

3. The East India Company made a rule
that the property of women would not be
taken over.

4.  Adhiyars were sharecroppers on the
land owned by bargadars.

Which of the statements given above are

correct ?

(a) 1,2and4

(b) 1,2and3

(¢) 2,3and4

(d) 1and3only

52. Match List-I with List-II and select the
answer using the code given below the Lists :

List-1 List-I1
(Journal | Newspaper  (Founder/Editor/
/Pamphlet) Author)
A. Kudi Arasu 1. Aurobindo Ghosh
B. Kisan Bulletin 2. Pherozeshah
Mehta
C. Bombay Chronicle 3. Indulal Yagnik
D. Bhawani Mandir 4. E.V. Ramaswami
Naicker
Code:
A B C D

(a) 4 3 2 1

(b)y 4 2 3 1

R | 3 2 4

(20 | 2 3 4
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53.

54.

55.

(17-A)

Which of the following statements about the
Ghadar Movement is/are correct ?

17 The Ghadar Movement began in 1913 in
San Francisco.

2. The movement was
Sohan Singh Bhakna.

3. The Ghadar Movement took its name
from the weekly Ghadar brought out in

founded by

several Indian languages.
Select the answer using the code given below :
(a) 1lonly
(b) 2only
() 2and 3 only
(d) 1,2and3

Chronologically arrange the formation of the
following political associations, beginning from
the earliest :

1.  Poona Sarvajanik Sabha

2. Indian Association

3. Madras Mahajan Sabha

4, Bombay Presidency Association

Select the answer using the code given below :

(@) - 23
b)) 4,821
() 1,2,4,3
@ 3,41,2

Which one of the following periods has
provided the evidence of a ploughed field at
Kalibangan in Rajasthan ?

(a) Early Harappan
(b) Mature Harappan
(c) Late Harappan
(d) Chalcolithic



56. fferfae gemmett w famm Fifsm -
1. i & fore gftem offr %1 deq
2. Tt geEar
3. gigtamEn
4. QO TIAES G
a1 11§ AT 1 UE FIATTHH (W e H AR
Feaw ) Frefafaa d @ w-ar g 2
(@) 2,3,1,4
b) 3,2,4,1
(¢ 3,421
@ 2,341
57. Frafafes gmi w feem fifsg
feereF ) (5 forg SfE #)
I fiem : gav #i
II. Sifere : & (Plough) &1
I Higd
1L 5ig (A0 & @) : i 6 ffad
atafd
IV. = . e & o7t wW
INEISIC)
Infa & | forae g ot gafea 272 2
(@ 1
(b) 2
() 3
@ 4
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58.

59.

60.

(18-A)

“IATTF T & Ged °, Fafafes & @
4T HYT L TET & 2

(a) %€ faszm aweT $ wF w@ TS
tGIE ] (political innovation) off |

3 8 e 9, 52 wemes & for o &
% e, Rieasri ot smfat & yuse
FHIT 371 T ol agelt  forg Tea-&7 ey s
Of

(c) o TSI I F& W SAfBTA IUFNT TAT HISH
I wftmt & fuffe == (stipulated
contingent) F W@E@E * O o vm @
Sl

3% Afl F e F v e F o
fer = 3wamT ot arafa 7 of |

(b)

(d)

e e g w7 e 78 ot i e T
9P (Like a man she fought, she was the Rani
of Jhansi) forae gry ferddt 8 2

(a) wETedT I

(b) GwET FAM =eH

(c) 3F9ar Sfaq

(d) T 3=

UERT % AR | fefefaa FweEt w faem i

1. Tz Ve e v fafte ®v & g ol
(Buddhism) ¥ €95 2 |

2. waw fum Femwr d@fw gwem & 9
(dressed stone) 3T wg ¥ wsr 32 ¥ == mw
TR

i i A P A e

(a) *ad 1

(b) a2

(c) laﬁl‘QEﬁﬁ

(d) @1, T2



56. Consider the following events :
1.  Muslim League Resolution for Pakistan
2.  Gandhi-Irwin Pact
3.  Dandi March
4.  Second Round Table Conference
Which one of the following is the correct
chronological order of the given events
(earliest to latest) ?
(a) 2.3,1,4
(b) 3,2,4,1
(c). 8;4,2,1
d 23,41
57. Consider the following pairs :
(Historical Place)  (Well-known for)
I. Girnar : Sudarshana Lake
II. Cholistan : Terracotta model of
Plough
ITI. Mant : Headless standing
(near Mathura) figure of Kanishka
IV. Sannati : Asokan Pillar Edict
in Odisha
How many pairs given above is/are correctly
matched ?
(a) 1
(b) 2
() 3
(d) 4
ANFB-S-GKL

59.

(19-A)

With reference to the “Amara-Nayaka system”,
which one of the following statements is not

correct ?

(a) It was a major political innovation of the

Vijayanagara Empire.

(b) They were military commanders, who
were given territories to govern and
collect taxes and other dues from
peasants, craftspersons and traders in

the area.

They retained part of the revenue for
personal use and to maintain a
stipulated contingent of horses and
elephants.

(c)

(d) They were not allowed to use their share

of revenue for the maintenance of
temples.

The popular poem “Khoob ladi mardani woh
to Jhansi wali rani thi” (Like a man she
fought, she was the Rani of Jhansi) was

written by :

(a) Mahadevi Varma

(b) Subhadra Kumari Chauhan
(¢) Amrita Pritam

(d) Balamani Amma

Consider the following statements about
Ellora :

1. This art-historical site is associated
exclusively with Buddhism.

2.  The Kailasa temple at Ellora has been
built of dressed stone and kiln fired
bricks.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2



61.

62.
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frmfafa & & fora usa & Tigueett dtg Tend e
g2

(a) g ¥

(b) FAleH

(c) dfdeTg

@ ¥

Frstar 7 femert & an & frefafed Fot w

ﬁra‘rﬁﬁ’l‘fﬁq:

1. 38 &7, Terat s st w fafa R
TR

2. FHAHR A “Fg NG WaH FA Al qHAH
T ITINT foRaT B |

I H W AR -8 HU T 2/ 2
(a) Fad1

(b) a2

(¢) 13R23M

(d Far1,Tde

‘e gHfor A1z 1 S § SaTe foRaeh g
ra, fomt et St W sremE # fer R
TR ?

@ S =R

M.

(20-A)

1857 it wifd & wexl #, Fraforfaa ot w e
Hfe -
1. 8 Ol 3 I YW ¥ weid &7 % @n #r
- ufeq faram it o IS & S W FEe
ek 38 7T I | Feet & |

2. T BRI % R & % Fiet Fa1 o |
39 | | HH-T/HH-H HT qE 2/ 0

(a) a1

(b) a2

(¢) 13R23MT

(d) Tar1, &2

frafafas & & fre gwas & w3t & o it
“qf St 37 o, A At 98 T R owf I I@
B i fafa R & 2

(a) ggEfeH

3

(b) FUTAHSHAT

(¢) HAMHS
(d) <=t et

Iy WG e Aieenstt % Hed

fFrferfaa et w famm Hifs

1. ufsar wmEE A Uk [We yERE
"3 FHET faedi foi que 37 Sl 32
70 ftafyafins g a0 fokve fram f qeet
1 aftEd & T R, srEe it ey g
g

2. awErs e awfior wira § Ry gy S A
A % fore Farferean 3 dm o avrd fora |

3. wOfeHT Frag F wfean warfewr it @i we
q e o forg wfafaferieer 1 Jqe o |

S H & fra o wdi 22

(@ 1

(b) 2

fc) "3
(d) g



61. In which one of the following states are the
Guntupalle Buddhist Caves located ?
(a) Andhra Pradesh
(b) Karnataka
(¢) Tamil Nadu
(d) Kerala
62. Consider the following statements about
Ajanta Cave paintings :
1. The paintings depict yakshas,
gandharvas and apsaras.
2.  The artists have used the technique of
providing “multiple perspectives”.
Which of the statements given above is/are
correct ?
(a) 1only
(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2
63. “Neel Darpan”, a play that depicted the
atrocities on the indigo planters, was
translated into English by :
(a) Dinabandhu Mitra
(b) Michael Madhusudan Dutta
(¢) dJames Long
(d) James C. Scott
ANFB-S-GKL

M.

(21-A)

With reference to the Revolt of 1857, consider

the following statements :

1.  Shah Mal mobilised the people of Baraut
region of Uttar Pradesh and captured
the bungalow of an Englishman and
converted it into a “hall of justice”.

2. Gonoo was a Kol leader of the
Singhbhum region of Chotanagpur.
Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2

Which of the following books portrays three
images of the Mother Goddess : “Mother as
she was”, “Mother as she is” and “Mother as
she will be” ?

(a) Durgeshnandini
(b) Kapalkundala

(¢) Anandamath

(d) Devi Chaudhurani

With reference to the women achievers in
modern India, the following
statements :

1. Pandita Ramabai published a book “A
Comparison Between Women and Men”
where she protested against the colonial
view that men enjoyed all the rights,
opportunities and benefits of change.

2.  Tarabai Shinde worked in the field of
medicine to reduce child mortality in
rural India. '

3. Sarojini Naidu led a delegation to
London to demand for female franchise.

How many of the statements given above

consider

is/are correct ?

5 |
®d 2
() O
(d) None



67. T TAWE ¥ fo faera aifverer g aad #af

69.

70.

ANFB-S-GKL

e ?
(a) @
(b) aferTg
()
(d) FAEH

FHAWW A, S stedt wdt F omw § Gy
eI F fore ST sirar 8, v F frw usw H
Reraa 2

(a) WETSE

(b) ¥

(c) dfferTg

(@ TS

ArAfET BTSRT. 3T LA qEF T YA IO
aferem fear

G T §
(b) IrEEAN Hiare §
(c) wfea 37as SicieH §
(d) TE BISI SAieTe §

(a)

Id & 3foer@ F et #, “H9#] (kopeki)” T2
e dag 2

(a) F93

(b) Twh

(¢) Hfram

(d) =f&or YRa ¥ U YR H G

1.

72.

73.

(22-A)

Frafafas 8 9 w1 yer 3 fasiar & $9-ar

T T Gatora T8 & 2

(a) FUREFEREH  :  Fofa a9 F g fnfar

(b) wwfERwd o ey Pufes ®

(¢) THIUFREH  : UF & & F I Fl
IS FAT 8

(@) quifoerefi o @ |TforR ®9 ¥ 35AH
IS FAT 8

Fdf stz 2025 # fFes fo FDI it aef i
(sectoral cap) I 74 Ufawid & si@ER 100 Sfawra
= e mar 2

(a) FHAL &

(b) forega &=

(c) TEmad

(@) fmr &

et 3eare i sifrd Fa (sticker price) F
FUTEq SHIC @A §Y 3F HTHR H FH A Y
Tfet T T FET ST E 2

(a) @F=A AT (Shrinkflation)

(b) FAHAHI (Reflation)

(c) IEqEHId (Disinflation)

(d) 9THIT (Deflation)



67.

69.

70.

The Sanikatta Salt Works, known for Salt
Satyagraha, is located in :

(a) Gujarat
(b) Tamil Nadu
(¢) Kerala
(d) Karnataka

The Kalaram temple, known for temple entry
movements in the early twentieth century, is
located in which state of India ?

(a) Maharashtra
(b) Kerala

(¢) Tamil Nadu
(d) Gujarat

Matangini Hazra and Lakshman Naik

sacrificed their lives in :
(a) Bardoli Satyagraha
(b) Non-Cooperation Movement

Civil Disobedience Movement

(c)

(d) Quit India Movement

With reference to the history of India, the

word “kopeki” is associated with :

(a) Clothes

(b) Coins

(¢) Land measurement

(d) A type of sport in South India
ANFB-S-GKL

71.

72.

73.

(23-A)

Which one among the following pairs of type of
firm and feature is not correctly matched ?

(a) Ohéopoly firm Interdependence in
decision-making
(b) Monopolistic Firm is a price setter
firm
(¢) Monopoly firm Produces an efficient
level of output
(d) Perfectly Produces socially
competitive firm optimum output

Union Budget 2025 increased the Sectoral cap

of FDI to 100 per cent from 74 per cent for :
(a) Telecom Sector
(b) Power Sector
(c) Defence Sector

Insurance Sector

(d)

The practice of reducing the size of a product

while maintaining its sticker price is called :

(a) Shrinkflation
(b) Reflation

(¢) Disinflation
(d) Deflation



74. WG § TEER 991 FgEIE R fawm & an i

75.
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frefefiaa Fuet w o fifs

1. faw ifes® duar @ (WIPo) #t faid &
HFUR AT TER GEFF § WA & M
() ¥ af 2015 3 af 2024 F g &
HEE gUR g R |

2. FgHIH 3R feww F foe fefaT (funding)
i e qega: st & i deensd g i
St ® 3R aw wmiEgfewew o gEAr
Srenfireht & 8 iz 2 |

ST H ¥ HH-H1/HH-E U e /8 2

(a) Faa1

(b) FIA2

() 13fM23Et

d dar1,T&2

R Jaar S8 (1IE) % a1 § fefafas

A1 W foem ifs :

1. IE F w9 9§ 1999 & Tameret § $it 78
ot |

2. HEIH % T 3574 @Y IR GEW IeHI o foIg
gi¥reor, FrpEaE 3R T ittt yam
FATR |

394§ FH-G/FH-H FU g /E 2

(a) a1

(b) a2

(¢) 13R28H

(d Far1,T&2

76.

717.

78.

(24-A)

5 GERR % TSR @I T 3 T et defiorer

=2 % a1 # frfefiaa wet w fem A ;

1. GDP i Sfavraar & &9 § yrelt gsfima ==
2020 — 21 T GEAT | 2023 - 24 & 5g AT
g1

2. GDP i yfawraar & &9 # U9 @i W
2020 — 21 I JoT # 2023 - 24 F &g T
2l

I § H HH-H/RA-H F G /R 0

(a) wad 1

(b) e 2

() 13T23H

(d) Fdr1,AHR2

a7 fafa &9 % &9 § et (DEH) & I &

Frafafes & @ FH-ar s w78 2 2

(a) 3TTET 2019 ¥ DEH I It fomam mam o |

(b) DEH T 329 3 & oo 944d el &
fafa Fr g AT R |

(¢) WRa # faey =mw Hify 2023 ¥ DEH #i
wiftrenT 1 drexrT |

(d) DEH % @i&q fa=ita guase v o 3k
UHRAT  (logistical) TUT HTETEHTHS
FRIIAT Y& e i #I Sieafed FEr e |

fom for an (rTD) ¥ SR F Fefofes § @

F-F/HH-Y T T2/ 2

1. TTT U ol veet @ foras sgwa |qof sma
F iR BEl # ews ST e
(life skill) RramT 2 |

2. TTT T vt veet @ foras sewa dqul wia
T BET B AEEE AT qEAR P
fammT |

i faw e %z w1 T = I g

(a) a1

(b) a2

(¢) 13R2M

(d Tdar1y,a#2



74. Consider the following statements about
innovation and research and development in
India :

1. India’s rank in Global Innovation Index
reported by World Intellectual Property
Organization (WIPO) has improved
significantly between 2015 and 2024.

2.  Funding of research and development is
sourced primarily from private sector
entities and is sectorally concentrated
in pharmaceuticals and information
technology.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

75. Consider the following statements about the
Indian Institute of Entrepreneurship (IIE) :

1 The IIE was established in 1999 in
Guwahati.

2. The main aim of the institute is to
provide  training, research and
consulting activities for small and micro
enterprises.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2
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76.

i &

78.

(25-A)

Consider the following statements about

Union Government’s Expenditure on revenue

account and effective capital expenditure :

1.  Effective capital expenditure as
percentage of GDP has increased from
2020 - 21 to 2023 — 24.

2. Expenditure on revenue account as
percentage of GDP has increased from
2020 — 21 to 2023 — 24.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(c) Bothland2
(d) Neither 1 nor 2

Which one among the following statements
about the Districts as Export Hubs (DEH) in
India is not correct ?

(a) DEH was launched in August 2019.

(b) The aim of DEH is to boost exports of
only selected districts of the country.

(¢) India's Foreign Trade Policy 2023
reiterated the role of DEH.

(d) DEH aims to promote exports by

providing financial inclusion and
facilitating logistical and infrastructural
support.

Which of the following statements about Tim

Tim Tare (TTT) is/are correct ?

1. TTT is a pioneering initiative that aims
at imparting essential life skills to
adolescent students across India.

2. TTT is a pioneering initiative that aims
at imparting vocational and technical
skills to students across India.

Select the answer using the code given below :

(a) 1only

(b) 2only

(¢) Both1land2
(d) Neither 1 nor 2



79. U wifewsht wreT (NSO) g arfier srrafers s | 81
o gagur (PLFS) fai 2023 - 24 % dey &
Frfefigs et w fomm Aifs -

1. USR % &7 § HiY & it wrfierd gwre st
g8 8, S 2017 — 18 § T 44 Wiow oft,
2023 — 24 § FGHF T 46 Wiow & TS
2

2. aﬁzon-w%zozmmw@raaaﬁr%sz'
3 FMY & § wfen Sl Ayt §
FaTER

IR § & F-HYRH-T e Tl &/ 2

(a) a1

(b) FaA2

() 13fR23H
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Frerfefiam & & Fa e, miad |

3R 16 a¥ qF F T F AP FEE w
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(a) Z-f (U-WIN)

(b) HiuR-TsfTEHETH (PM-ABHIM) i

(¢c) E-usiiat (eSanjeevani)

(@) UEETETE (FDSI)

(26-A)
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WG 918 & IqArT FE 2

1. e HE TR o

2. el feargdl i Foget & FAae FE

3. $HC, WISH ZIEET SAET HAT-3eT ATy

TEdT hTAT
4. UL, TS STETHET B FAGE FET
el o 7T %z T R A IR G
(a) 132
(b) 13K3
(¢) 23W3
d 23R4
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(a) 0101
(b) 10010
(c) 1101
(d 11001
fraforfiaa & & -1 wifserer ST 787 & 2
(a) NOT
(b) OR
(c) AND
(d) Division



79.

Consider the following statements regarding
Annual Periodic Labour Force Survey (PLFS)
report 2023 — 24 by the National Statistical
Organization (NSO) :

1. The

dominant in employment, with

remains

its

agriculture  sector
share rising from about 44 per cent in
2017 -18 to about 46 per cent in
2023 — 24.

2. The
agriculture has increased during the
period 2017 — 18 to 2023 — 24.

share of female workers in

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(c) Both1land2
(d) Neither 1 nor 2

Which one of the following platforms marks a
transformative step in India’s immunization
efforts by digitizing vaccination records for
pregnant women and children up to 16 years ?

(a) U-WIN

(b) PM-ABHIM

(¢) eSanjeevani

(d) FDSI
ANFB-S-GKL

81.

82.

(27-A)

Which language the
representation of machine codes needed to

uses symbolic

program a particular processor or processor

family ?

(a) Machine Language
(b) Assembly Language
(¢) High-Level Language
(d)  All of the above

What are the uses of software ports ?
Connect client computer to server
2 Connect external devices to computer

8 Identify different services like email, file
transfer

4, Connecting peripherals like cameras,
scanners

Select the answer using the code given below :

(a) land2
(b) 1land3
(¢) 2and3
(d) 2and4

Assuming the computer is a 4-bit computer,
what result is produced after subtraction
of 3 from 5 using the 2's complement
representation ?

(a) 0101
(b) 10010
() 1101
(d) 11001

Which one of the following is neot a logical
operator ?

(a) NOT
(b) OR

(¢ AND

(d) Division
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(b) T g (b) 4,3,1,2
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85.

Which among the following are the purposes of
deploying a Firewall ?

I Examine each packet arriving from
Internet
2. Prevent unauthorised access

3.  Block suspicious activity
4, Interconnect telephones

Select the answer using the code given below :

(a) 1and2only
(b) 1,3and4
(¢) 2and3only
(d 1,2and3
86. Amsterdam-St. Paul Plateau is located in
which one of the following oceanic regions ?
(a) Arctic Ocean
(b) North Atlantic Ocean
(¢) Southern Indian Ocean
(d) South Pacific Ocean
87. Which one of the following pairs of City and
Lake is not correctly matched ?
(a)  Buffalo Erie
(b)  Detroit Superior
(¢) Milwaukee : Michigan
(d) Toronto Ontario
ANFB-S-GKL

88.

89.

(29-A)

Which with

reference to lines of latitudes is/are correct ?

of the following statements

1. The distance between two successive
latitudes changes slightly from the
equator to the poles.

2.  If parallels of latitude are drawn at an
interval of one degree, the total number
of parallels thus drawn, including the
equator, will be 179.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

Arrange the following major elements present
in the Earth’s crust, in ascending order, in

weight percentage :

1% Aluminium

2. Calcium
3 Silicon
4. Oxygen

Select the answer using the code given below :

(a) 3,4,1,2
(b) 4,3,1,2
() 2,1,8,4
da 1,2,3,4
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92,
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91.

1.

2.

L]
(a)
(b)
(c)

(d)
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90. Match List-I with List-Il and select the
answer using the code given below the Lists :
List-1 List-II
(Island / Nation) (Tectonic Plate)
A. Comoros 1. North American
Plate
B. Baffin Island 2. African Plate
C. SriLanka 3. Eurasian Plate
D. Andaman Indo-Australian
Islands Plate
Code:
A B C D
(a) 3 1 2
tb) @ 1 4 2
(e i 4 1 3
@) 2 3 | 4 3
91. Which of the following statements with
reference to Richter scale is/are correct ?
1. It is the intensity scale of an
earthquake.
2.  Richter indicates the amount of energy
released during the earthquake.
Select the answer using the code given below :
(a) 1lonly
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2
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93.

(31-A)

Which of the following statements with
reference to Glacial trough is/are correct ?

1.  Alpine glaciers strip valleys of their soil,
regolith and sediment to form glacial
troughs.

2 When the sea level is below the floor of a
glacial trough, the seawater enters as
the ice front recedes, creating a fiord.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(¢) Bothland2

(d) Neither 1 nor 2

Consider the following statements with

reference to Mid-latitude deciduous forests :

1.  Mid-latitude deciduous forests consist
largely of trees that drop their leaves
during the summer season.

2 Mid-latitude deciduous forests are
native to eastern North America and

Western Europe.

g In Asia, the Mid-latitude deciduous
forests occur as a belt between the
boreal forest to the north and steppe
lands to the south.

4. Beech, Hickory and Walnut are common
examples of trees found in Mid-latitude
deciduous forests.

Which of the statements given above are

correct ?

(a) 1,2and3
(b) 1,2and4
(¢ 1,3and4
(d 2,3and4
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95.
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94. Arrange the following permanent gases
present in the atmosphere in ascending order :
1.  Helium
2.  Hydrogen
3. Neon
4, Xenon
Select the answer using the code given below :
(a) 3,1,2,4
(b) 3,1,4,2
) 2,4,1,3
d 2,431
95. The pattern of planetary winds largely
depends upon which of the following factors ?
1. Latitudinal variation of atmospheric
heating
2. The distribution of continents and
oceans
3.  The rotation of earth
Which of the above is/are correct ?
(a) 1only
(b) 1and2only
(¢) 2and3only
(d 1,2and3
ANFB-S-GKL

97.

(33-A)

Which of the following statements with
reference to Water Vapour in the atmosphere

is/are correct ?

1. It has a role to play in the stability and
instability in the air.

2. It acts like a blanket allowing the earth

to neither become too cold nor too hot.

Select the answer using the code given below :
(a) 1only

(b) 2only

(¢c) Both1and2

(d) Neither 1 nor 2

Consider the following pairs with reference

to world climate types and their
characteristics :
(Climate) (Characteristic)
I.  Tropical wet Winter dry season
and dry
II. Mid-latitude Mid-latitude semi-arid
steppe or dry
III. Humid No dry season, warm
sub-tropical summer

IV. Marine west
coast

No dry season, severely
cold summer

How many of the pairs given above is/are
correctly matched ?

(a) 1
(b) 2
(e 3
d 4
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98. Identify the climate type based on the given
below characteristics :

1. The annual precipitation is low and is
around 15 cm.

2. The development of pronounced winter
anticyclones and their weakening in
summer sets in monsoon-like reversal of
wind in this region.

3. Polewards, summer temperatures are
low.

Select the answer from the options given

below :

(a) Subtropical steppe

(b) Humid sub-tropical climate

(¢) Cold climate with dry winters

(d) Tundra climate

99. Consider the following statements with
reference to the Cotton textile industry in

India :

L Cotton textile industry has, over time,
spread to other parts of the country,
beyond Gujarat and Maharashtra.

2.  Raw cotton is not a weight-losing raw
material.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

ANFB-S-GKL

100.

101.

102.

(36-A)

Indore city in Madhya Pradesh is situated in

which one of the following regions ?

(a) Bundelkhand
(b) Mahakoshal
(¢) Malwa Plateau
(d) Nimar Region

Which among the following Classes of Towns
in India holds the highest percentage of Urban
Population as per the Census 2011 ?

(a) ClasslII

(b) ClassIII
(¢) ClassIV
(d) ClassVI

The Golden Quadrilateral Highway does not
pass through which of the following cities ?

1. Bhubaneshwar

2. Jaipur
3. Lucknow
4, Indore

Select the answer using the code given below :

(a) land2
(b) 1land3
(¢) 2and3
(d) 3and4
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103.

104.

105.

the statements with

reference to location of Major Ports in India :

1.  Deendayal Port is situated at the head
of Gulf of Khambhat.

Mo Cochin Port is situated at the head of
Vembanad Kayal.

3. Mormugao Port is situated at the
entrance of the Zuari estuary.

4.  Paradip Port is situated in the Godavari
delta.

Which of the statements given above are
correct ?

(a) 1land2
(b) 1land3
(¢) 2and3
(d 3and4

Consider following

Which one among the following is not an
atmospheric natural disaster ?

(a) Drought
(b) Hailstorm
(¢) Frost

(d) Avalanche

Which of the following statements with
reference to National Institute of Disaster
Management (NIDM) is/are correct ?

1. It was constituted in the year 2006.

2.  Under the Disaster Management Act,
2005, the Institute has been entrusted

to assist in national level policy
formulation with reference to Disaster
Management.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(c) Both 1 and 2

(d) Neither 1 nor 2

ANFB-S-GKL

106.

107.

(37-A)

Which one of the following statements about
‘Nilgiri’, ‘Surat’ and “‘Vaghsheer’ is correct ?

(a) These are Tiger Reserves in the state of

Gujarat.

(b) These are combatants commissioned by

the Indian Navy.

(¢) These are Biodiversity parks maintained

by the Indian Army.

(d) These are Tiger Reserves maintained by

the Indian Navy.

Which of the following surveys are being
conducted by the Ministry of Statistics and
Programme Implementation, Government of

India ?
1.  Survey on Social Consumption — Health

2. Comprehensive Modular Survey -

Telecom and ICT skills
3.  Periodic Labour Force Survey

4. Annual Survey on Unincorporated

Enterprises

Select the answer using the code given below :

(a) 1,2,3and 4
(b) 1,2 and 3 only
(¢) 3and4only
(d) 1and2only
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108. Which of the following statements is/are
correct ?

1; The Government of India has
discontinued the Pradhan Mantri Fasal
Bima Yojana.

2.  The Government of India has approved
the continuation of Restructured
Weather Based Crop Insurance Scheme.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(c) Bothland?2

(d) Neither 1 nor 2

109. Match List-I with List-Il and select the
answer using the code given below the Lists :
List-1 List-I1
(Organization) (Year of
Formation)
A. European Union 1. 1994
B. Asia-Pacific Economic 2. 1967
Cooperation (APEC)
C. Association of Southeast 3. 1989
Asian Nations (ASEAN)
D. Free Trade Areaofthe 4. 1993
Americas (FTAA)
Code :
A B C D

(a) 3 2 1 4

()= 2 3 4 i &

el 4 3 2 1

(d 4 3 1 2
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110.

111.

112.

(39-A)

The book ‘The Art of War’ was written by :

(a) Niccolo Machiavelli

(b) Thucydides

(¢) Thomas Hobbes

(d) J.S.Mill

Which one of the following military operations
was not undertaken by India ?

(a) Operation Ablaze

(b) Operation Spider’s Web

(c) Operation Trident

(d) Operation Bandar

Which of the following statements are correct
about ‘Arnala’, an Anti-Submarine Warfare
Shallow Water Craft ?

1. It is indigeneouly designed in India.

2. It is named after the historic Arnala fort
located in Maharashtra.

8. It has been built under a Public-Private
Partnership (PPP) of GRSE with
M/s L&T Shipyard.

Select the answer using the code given below :

(a) 1and 2 only
(b) 2 and 3 only
(c) 1and 3only
(d 1,2and3
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113. Robert Prevost became the Catholic Pope after
the death of Pope Francis. Which of the
following statements is/are correct about him ?
i 1 He will now be known as Leo XV.

2.  He became the 2715 Catholic Pope.

3. He is a dual citizen of the United States
of America and Peru.

Select the answer using the code given below :

(a) land2

(b) 2and3

(¢) 1lonly

(d) 3only

114, Which of the statements about the dams on
the Chenab river is/are correct ?

1. Salal dam, Aalal dam and Baglihar
dams are on the Chenab river.

2.  Baglihar dam has a greater height than
Salal dam.

3.  Salal dam is operated by Jammu and
Kashmir Power Development
Corporation and Baglihar dam is
operated by NHPC Limited.

Select the answer using the code given below :

(a) land?2

(b) 2and3

(¢) 2only

(d) 3only
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115. Which of the following statements about

116.
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‘Alcatraz’, which was recently in news, is/are

correct ?

L It was once a defence fort on Alcatraz

island of America.

2. It was once a prison on Alcatraz island
of America.

3. It was once occupied by a group of native
American students, known as ‘Indians of
all tribes’.

Select the answer using the code given below :

(a) 1and 2 only
(b) 2 and 3 only
¢© 1,2and3
(d) 1only

Which of the following statements about

India’s military arsenal is/are correct ?

1. HAMMER is a weapon system built for
the Rafale fighter aircraft.

2. SCALP cruise missile is also known as
Storm Shadow.

3. BrahMos missiles are built under a joint

venture between India and Russia.

Select the answer using the code given below :

(a) 1and 2only
(b) 2 and 3 only
(¢ 1,2and3
(d) 3only
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Recently, ICAR Council of
Agricultural Research) has developed the

(Indian

world’s first genome-edited rice varieties.
Which of the following statements is/are
with respect to the

correct developed

products ?

1.  The genome-edited varieties — DRR Rice
100 (Kamla) and Pusa DST Rice 1 have
been developed by ICAR-IARI, New
Delhi.

2. DRR Rice 100 (Kamla), based on Samba
Mahsuri, has a shorter duration of
maturity.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

Which one of the following is a good statistic to
evaluate where an economy stands in the

financial cycle ?
(a) Tax/GDP Ratio
(b)  Fiscal Deficit/GDP Ratio
(c) Household Consumption/GDP Ratio

(d) Credit/GDP Ratio

119. Which of the following pairs of initiatives of

120.

(43-A)

the Government of India and their objectives

is/are correctly matched ?

1.  Global Capability : Reshaping corporate

Centre (GCC) landscape

2 U-WIN Portal : Ease of doing
business across

states

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(¢c) Bothland?2

(d) Neither 1 nor 2

Social Mobilisation and Institution

Development (SM&ID) is one of the major

components of :

(a) Deen Dayal Antyodaya Yojana

(b) National Urban Digital Mission

(c) Atal Mission for Rejuvenation and
Urban Transformation

(d) Rashtriya Gram Swaraj Abhiyan
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